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Questions 1-5
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Section Il  Questions 6-11
60 Marks

Maths Class: ..... rrreraeenes Tees

Section 1 - Multiple Chaice - (5 marks)

Answer on the sheet provided

-Allow approximately 10 minutes for this section

1. The diagram shows the graph of the function y = x2—2x

Ay I

Which pair of inequalities specify the shaded region?
A y=x? —Zxar.ldyso
B. y<x?—2xandy =0
C. yzx*—2rxandys0

D. yzx?—2xandy =0

The graph with equation y = x2 is translated 2 units down and 3 units to the

right. Which equation represents the resulting graph?

A y=(x—3)P+2

B. . y=_(:c+3)2+2
C . y=(x+3)2-2
D. y=(x—3)¥-2

-y r—




-

3. What is the domain of the function f(x) =vx + 1 —vx + 2
A x=-2
B.x=>2-1
C ~isx<~2
D. x5 —-2orxe—1

4, Whatis 8% x 61/2 + 323/2 in simplest form?

A 43

B. 2v3 %
C. 347 }‘
D. 47

5. Whatare the solutfons of 3x2 —7x — 1 = 07

A Lo ~71;’ﬁ

B. ot

. &

C 4= 7vBL
6

D 737

&

— -

End of section 1

. Section Ii

Answer questions in booklet provided. |

Start each question on a new page

Allow approximately 80 minutes for this section

Question 6: (10 marks

©

a)y Write (1+ v7)2 inthe form a + bv7

— 1
B Solveforx, 16+% =

) Factorise fully, 81 — x*

d) Whatis the centre and radius of x2 + y‘{ +o6x+8y-11=0?

IS

.} -Write down the equations of horizontal and vertical asymptotes for

!
T xt1

Marks

R




(Starl{ each new question on a new page)

Question 7: (10 marks)

a) Inthe diagram below, AB || CD. EF bisects ZBEG and GF bisects 2EGD,”

What is the size of 2EFG? Give clear reasons.

b) Solve simultaneously x - 2y =5 and 2xy — x% = 3

¢y The side LM of ALNM is produced to P so that MP:ELM. HQand Rarethe

midpoints of MN and LN respectively,
i) Copy the diagram ente your answer sheet,

ii) Prove that ARNQ is similai to ALNM.
ity , Prove that PQRM is a parallelogram.

Marks

3 -

(Start each new question on a new page)

uestion 8: {10 marks
@ Solve3x—2VXx—8=0

2—x%x< -5
b} A functionis defined by f{x) =2x+1,-5<x <0
x#=9,x>0

Find the value of 2f{(—5) + [f(1)]? + f (—1)
¢} SolveZx—1 Zg

d) Find the value of x in:

Marks

et




(Start each new question on a new page)

uestion 9: '10 marks

&) Fully factorise x© ~ 26x% — 27

h) ABCDEFis a regular hexagon, and CP || AB.
A B

E D
) Find the size of ZBCP, giving reasons,
i) Prove that ABCP = ADCP.
¢) 1) Onthe same set of axes, sketch the gra.plis of
y=;I2x+5fand y=x+4

ii) Hence or otherwise, solve |2x'+ 5[ < x + 4

—

Marks

b s

(Start each new question on a new page)
Question 11: (10 marks) : | Marks

a) Given that in AABC, XYJ|BC and RYJ|SC _ 3

prove AX — AR
TOVe Y5 ~ &s

b) i)Factorise x3 — 6x? + 9x 2
if) Hence solve x® — 6x% - 9x < 0 2
c} Express the following as a single fraction with rational denominator 3

whenx = 3v3 42,

1 1. 2

=1 x¥1l x2-

End of Assessment Task
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